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Cost and Management Auditing

ATTd U9 Yat 3HhaTor

Time: 3 Hours Maximum Marks: 60

Note: This paper is of sixty (60) marks containing three (03) sections.
Learners are required to attempt the questions contained in these sections
according to the detailed instructions given therein.

Alc: Ig YA UF A16 (60) 3iehi T g S el (03) @ H Asnieid § |
Rt &1 s @st # Ru aw faeqga @i & IgER & uear @
TIeT T |

SECTION — A/ HT3- &

(Long-answer - type questions) / (&M 3caliT wRe)
Note: Section ‘A’ contains four (04) long-answer-type questions of fifteen
(15) marks each. Learners are required to answer two (02) questions
only.
(2*15=30)

Ale 9T 'F FH IR (04) Y 3cadiT 9T RA T E 9% T & T
Uegg 3ic uRa &, frenffal & s’ & Faer gt qeat & 3eav a7 &
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. Critically explain cost audit. Enumerate the essential features of cost
audit.

JRTT 37heToT I ITldedlcHsh cATEAT ShIToTU| olleTd 3{helurT ahr
AT faAwarsit & gofe Hiful

. How for the statutory provisions regarding cost audit are justified?
Give suitable examples from a few selected industries or your choice
in support of your answer.

AT P& § Fedledd deTfeeh Waele &gl db AIETId g7
YA THe, F S GheAeal R@?ﬁ@rmaﬁgﬁaﬂﬁfw
&I 5T |

. Explain ‘management audit’. Also discuss the provisions of Indian
companies Act with regard to management audit.

"YHT-3heTOT I SITEAT ITold| TaoI-3{heI0T & JFaed H
AT HUaT TAHTT & graar=r Hr egrear o fifav)

Discuss the review of manufacturing operations in cost and
management audit.

TP U Yeeel 37heTor 3 'AA0-hart fr g fr carear
ST

SECTION — B/ $iTeT @
(Short — answer — type questions) /&g JcadiT wea

Note: Section ‘B’ contains eight (08) short- answer type questions of five (05)
marks each. Learners are required to answer four (04) questions only.
Answers of these questions must be restricted to two hundred fifty (250) words
approximately. (4*5=20)
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Ale T '@ ' H 3G (08) TTY-3ealid U o a1 §| Ak wee & T
9 3 UTRT &1 fenfdat & s & Faa aw wal F 3eav a7 &
I U2 HI 3cak &l A I (250) 2real I 318 FT 16T gl d1gy|
Briefly discuss any four (04) of the following;

T § q fFegl T (04) Fr Gfeiead grEar FAT,

1. Liabilities of cost-auditor.
AT 3heTeh & alfdcd|
2. Cost audit programme.
ST 3{haTOT SIIshH |
3. Cost accounting record rules.
AR @i ATHerE [AT#H|
4. Cost audit report
AT 37haToT RUTE|
5. Audit of public sector undertakings.
ATaoifeieh 817 & 3UShAT I haToT|
6. Internal control in cost and management audit.
AIETd Ud YaetT 3{h&ToT H AR AIFoT|
7. Review of purchase operations.
g Ulshar3il hr aHeT|

8. Social audit.

grATfoleh 3TaheToT|
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SECTION —C/ @8 o
(Objective — type q uestions) / dzafass el

Note: Section ‘C’ contains ten (10) objective —type questions of one (01)
mark each. All the questions of this section are compulsory.
(10*1=10)

Al 9T T H T (10) XIS T T R § vAS U & v T
3% PUIRT & | 89 @5 & Tt e fAardt & /

Indicate whether the following are true or false;

sfg ®Y & Pafe@a @@ & a1 a9q ;

1. Basically it is intended that cost-audit be carried out by Chartered
Accountants.

Herah: faar TEr & T oI 37heTor A1ES TahiBecae & GanT fahar
ol |

2. If a cost auditor gets the information that he/she is being replaced by
some other cost-auditor, he/she should not attend the General Body
Meeting of the Company.

I fordly oeTd 3iheTa T I ool AT § 6 38¢F T W
fohall 3T oraTcl-37cheteh 1 AP HT ST T § o 38 el
AT AT &1 S H AT ST I1igu|

3. Non-expression of some insubstantial information or fact by an
auditor leads to criminal liability.

fehdll 3fheTer & CaNT H-ARAT FIAT AT dLT &l TASE o Il
HRTEST SAdd & AEAT aar B
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4. U/S 619(3)(b) of Indian Companies Act the right to carry out
supplementary audit of Government Companies is vested in a cost
accountant.

IR Felr fAfFmd i arr 619(3)(b) & Neddld  TIHRY
Halel & eh 3{haTT &l FTURR R ket A HARd g

5. Remuneration to a management auditor, as a percentage of profit of
business, is permitted under the code of conduct.

Yol 3heTeh ol TG & Yiard ot & &9 F griesf@s fear
ST IR |igdr # 3177 &

7. Indicate the correct answer-option;

3eek & v we e w1 gara RS

6. As per diminishing balance method of charging depreciation, if
depreciation @ 30% is I 30,000/- for the first year, what will be the
amount of depreciation for the 3" year?

g9 o[ 1 giad AW 3 & 3tea9id 30% g &1 ¥ ¥ I
YUH a¥ & g I 30,000/~ §, o I a¥ & v gy @ iRy
FIT grEm?

a. Rs. 21,000/- b. Rs. 30,000/-
C. Rs. 14,700/- d. Rs. 90,000/-

7. For which of the following jobs, cost-audit is not required?
a. Processing b. Manufacturing

C. Mining d. None of these
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T ¥ g &1 & [T Ae1a 376eTor Agt fRar Sirar g7

A GHEOT g e
g, el g. AN A PIS Al
8. Which of the following refers to efficiency audit?
a. Propriety of actions.

b Performance of functions as per pre-determined targets.
C. Achieving defined profit targets.
d. None of the above.
T & & AT AT 3HHRETOT H Feg(did Il &7
3. FHEf @ 3R
g [AURa @8 & 3ewT Hr-fAse |
. fuRa e & agat S e wE
g SH F PIS AL
9. Which of the following is not included in the scope of audit of
manufacturing process?

a. Plant Location

b. Plant Layout

C. Manufacturing Planning
d. None of these
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et & @ = AT ufRar & 3deTor ¥ a7 & gfEafag a8

3
.
T
c.

= $r yieafa
I AT
Fator Faee
STH U HIS AR |

10. Which of the following refers to internal check?

a.

2 o o

It continues along with the accounting function.
It starts after completion of accounting function.
It aims to detect fraud and embezzlement.

All of the above.

T F q T 1 Aheq edReh AT I Fefid Hidr &7

oo oA

Ig AWiehel P & FIY-HY ol &

I Wichel R qOT gl & d1G YRFST BIaT &
SHH 38T HUC IR T A goell Bl
3T # @ qel|
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